AP Calculus AB

Trigonometry Review

Ex 1) Find the 6 trig functions of each:
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Ex 3) Find each of the following, if it exists:
a) sin(—270°) b) tan 37
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Ex 4) Find the exact value of each expression without a calculator:
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Ex 2) Find each of the following;
a) sin Iz b) tanS—” ¢) sec _3z \
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¢) sec (—m/2) d) tan (31/2)
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***k************************************Which is

Dy=sinx F
2)y=cosx E
3)y=tanx D
4)y:arcsipx R
5)y =arccos x A
6) y = arctan x c

Ex §) Compose each of the six basic trig functions with JS(x) =sin""x and red C composite function to an
alge’ﬁa‘f&exp";g@gi‘pn involving no trig functions:
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Ex 6) Simplify each expression below using trig identities:
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a) 2sin(3x) =1 - b) 2sin’c + sin x = 1
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